http://fer3.com/arc/m2.aspx/Welcome-Spring-or-Fall-HerbertPrinz-mar-2006-w27802

Oops! You are some 5 minutes early. The correct value is 18:25:33. If you compute this from the N.A. you should be able to get the time within  an accuracy of better than 15 seconds. I don't have a N.A. handy to check it out. 

In sync with the equinox related traffic that occurs with a period of 0.5 tropical years on this list, I posted a diagram showing the apparent place of the sun around today's equinox with respect to the two fundamental reference frames: 

http://www.hprinz.us/equinox.jpg 

In the diagram, the ecliptic is blue. The true equator and equinoctial colure of date are green. The Sun (painted red) moves currently on a parallel of ecliptical latitude of -0.7". 

At 18:25:26 UT the Sun hits the equinoctial colure (i.e. R.A. = 0) at a declination of -0.73". At 18:25:33 UT it reaches ecliptical longitude 0. This is equinox.. At this point the decl. is 0.62" At 18:26:10 UT the sun reaches declination 0, at a longitude of 1.5" and a R.A. of 0.1s. 

All data computed with MICA Vers. 2, U.S.N.O. 

Conceptually, equinox implies that the declination of the sun equals zero. Hipparchus supposed this to happen in the equinoctial point, i.e. at zero longitude. When it was realized after Newton that the apparent Sun does not necessarily have to move through the equinoctial point each year, one had to make a decision whether to choose zero longitude or zero declination for the definition of equinox. Longitude was more practical. 

How come the Sun has latitude? Hint: The latitude of the Sun is always very roughly (give or take 0.2") that of the Moon, divided by 32000. 

Have fun. 

Herbert Prinz 

